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QUESTION 1

What are two reasons to use HTTPS as the transport method for AutoSupport delivery for Active IQ? (Choose two.) 

A. Only HTTPS transfers are compressed. 

B. AutoSupport OnDemand (AOD) is supported. 

C. HTTPS is encrypted. 

D. HTTPS does not use a standard port. 

Correct Answer: BC Section: (none) 

Reference: https://www.netapp.com/media/10438-tr-4444.pdf 

 

QUESTION 2

You perform a security trace when troubleshooting a data access problem for a user. The results are shown in the
exhibit. 

What should you do to solve this issue? 

A. Grant the user Read Attributes access to the path. 

B. Add the user to the BUILTIN\power Users group. 

C. Add the user to the BUILTIN\Users group. 

D. Grant the user Execute access to the path. 
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Correct Answer: A Section: (none) 

Reference: https://www.reddit.com/r/netapp/comments/dm90iv/change_ownership_failing/ 

 

QUESTION 3

For security reasons, you must track the access of files of a specific folder. 

In this scenario, what should you do to accomplish this task from the storage side? 

A. Implement a Vscan solution. 

B. Use a cron job to save the audit log. 

C. Use role-based access control to track access. 

D. Implement an FPolicy solution. 

Correct Answer: D Section: (none)

Reference:
https://library.netapp.com/ecmdocs/ECMP1196993/html/GUID-07D368C8-F4DD-4F14-9E6899C63881EBE7.html 

 

QUESTION 4

Which CIFS server configuration determines the domain controllers that a CIFS server uses? 

A. site membership 

B. enabled SMB versions 

C. trusted domains 

D. discovery mode 

Correct Answer: A Section: (none)

 

QUESTION 5

What is the minimum number of compute nodes required to run the NetApp Deployment Engine for NetApp HCI? 

A. 2 

B. 1 

C. 3 

D. 4 

Correct Answer: A Section: (none)
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Reference: https://docs.netapp.com/us-en/hci/docs/task_hci_getstarted.html#:~:text=The%20minimum%
20cluster%20for%20NetApp,to%20all%20NetApp%20HCI%20networks. 
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